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1. 　　　　　　　　 　　　　 　　　　 　 　　

What if we meet with a situation            none of us are able to deal with?

A. that                     B. where                            C. as                   D. when

2. 　　　　　　　　 　　　　 　　　　 　 　　

 Successful people are good at deciding            they allow change to affect them, which they view as a chance to develop their skills.

A. what               B. who               C. which           D. how

3. 　　　　　　　　 　　　　 　　　　 　 　　

 Fully          in looking after three children at home, she no longer has time to enjoy the various activities in the club.

       A. attached                B. occupied                C. contributed       D. devoted

4. 　　　　　　　　 　　　　 　　　　 　 　　

 My grandparents asked me to go and see them whenever           .

A. I’m convenient     B. I’ll be convenient         C. convenient       D. it’ll be convenient

5. 　　　　　　　　 　　　　 　　　　 　 　　

－ You haven’t seen a Yeti, have you?

  －          . How I wish to see one!

       A. Yes, I have      B. Yes, I haven’t            C. No, I have        D. No, I haven’t

6. 　　　　　　　　 　　　　 　　　　 　 　　

—Why does the river smell terrible?

       —Because large quantities of water__________.

       A. have polluted        B. is being polluted    C. has been polluted   D. have been polluted

7. 　　　　　　　　 　　　　 　　　　 　 　　

 Good news! We didn’t spend            we had expected.

A. as half much money as                              B. much money as half as

C. as much money as half                             D. half as much money as

8. 　　　　　　　　 　　　　 　　　　 　 　　

 When walking down the street, I came across David, whom I __________ for years.

A. didn’t see                B. haven’t seen       C. hadn’t seen        D. wouldn’t see

9. 　　　　　　　　 　　　　 　　　　 　 　　

—When did you _________staying up so late?

—When I entered this school two years ago, where students have too much homework to do.

A. take in                  B. take on                  C. take over         D. take to

10. 　　　　　　　　 　　　　 　　　　 　 　　

The final score of the basketball match was 93: 94. We were only________ beaten.

     A. nearly                      B. slightly                 C. narrowly         D. lightly

11. 　　　　　　　　 　　　　 　　　　 　 　　

Nowadays, skiing, _______being a sport，has become a big industry and a notable feature of leisure  culture.

A. except for                B. apart from        C. far from          D. due to

12. 　　　　　　　　 　　　　 　　　　 　 　　

When he returned to his hometown after the war, he found it had changed beyond all _________.
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